



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{4}\right)^3 + \frac{2}{5} =$$

$$\left(\frac{1}{3}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{2}{5}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right) - \frac{1}{3} =$$

$$\left(\frac{1}{6}\right) - \frac{1}{6} =$$

$$\left(\frac{1}{4}\right) + \frac{1}{5} =$$

$$\left(\frac{1}{5}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right)^3 - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{3}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(\frac{3}{4}\right)^3 + \frac{2}{5} = \frac{263}{320}$$

$$\left(\frac{1}{3}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{4}{15}\right)$$

$$\left(\frac{2}{5}\right) + \frac{1}{2} = \frac{9}{10}$$

$$\left(-\frac{1}{5}\right)^2 - \left(-\frac{1}{6}\right) = \frac{31}{150}$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{2}{5}\right) = \left(-\frac{11}{40}\right)$$

$$\left(\frac{3}{5}\right) - \frac{1}{3} = \frac{4}{15}$$

$$\left(\frac{1}{6}\right) - \frac{1}{6} = 0$$

$$\left(\frac{1}{4}\right) + \frac{1}{5} = \frac{9}{20}$$

$$\left(\frac{1}{5}\right)^2 - \frac{3}{4} = \left(-\frac{71}{100}\right)$$

$$\left(\frac{1}{4}\right)^0 - \left(-\frac{1}{5}\right) = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(-\frac{1}{6}\right)^3 - \frac{3}{4} = \left(-\frac{163}{216}\right)$$

$$\left(-\frac{1}{2}\right)^3 + \frac{1}{6} = \frac{1}{24}$$

$$\left(\frac{1}{2}\right)^3 - \frac{3}{5} = \left(-\frac{19}{40}\right)$$

$$\left(-\frac{2}{5}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{13}{75}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{49}{125}$$

$$\left(\frac{1}{3}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{3}{5}\right)^3 + \frac{1}{6} = \left(-\frac{37}{750}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{4}\right) = \frac{1}{2}$$

$$\left(\frac{1}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{119}{750}\right)$$